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recordTarget 1..%* | @typeCode="RCT”,
@contextControlCode="0P”

BEMO, HhEed

|--patientRole I..1 AT
@classCode="PAT

R SRl Hrh s

fevid 11 @root="2.16. 156. 10011. 1. 127, W DEOL. 00. 010. 00
-1 .. N . . .
BRI 5 BT id/@extension

H

BUENE, HAEE Eeuse="H" (b5

---addr Vb e i)

|--|]--|--houseNumber 1.1 | k-1 505 DE02. 01. 009. 06

|--|--|--streetName 1.1 | #ihkE-A (. B%. %5 DE02. 01. 009. 05
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|--|--|]--county L.l | #uhb-8 (X)) DE02. 01. 009. 03
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|--|]--|--state 1.1 | Hhk-% (AWEKX. BEiETD) DE02. 01. 009. 01

BEMEAEE, HbHEE
|--|--patient 1..1 | @classCode="PSN” ,
@determinerCode="INSTANCE”
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|--assigned Author

feEalEE, sEE:
@classCode="ASSIGNED”

o--id
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|--|--text NBEER I
|--|--entry TRk H
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|--|--|]--observation @classCode="0BS” ,
@moodCode="EVN”
Code
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codeSyst @codeSystem="2. 16. 15
f|—code em 11 R 6.10011.2.2.17 , DEO4. 01. 119.
codeSyst ) @codeSystemName="T 00
enNae A BHR A R
displayN @displayName="F 15"
ame
X} BB AR AR R
F BORER S AR EL I [A]
|--|--|--|--value xsi:type | 1..1 R FidtiR, —MlEE A
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component iﬁﬁﬁﬁEﬁiﬁgﬂﬁjﬁig
|--section
code Wy s A, Hord
displayN @code="10164-2" ,
ame @displayName="HISTOR
codeSyst Y OF PRESENT
|--|--code em | 1.1| R |ILLNESS”,
codeSyst @codeSystem="2. 16. 84
onName 0.1.113883.6.1” ,
@codeSystemName="L01
NC”
|--|--text NBEHR
|--|--entry W4 H
Hrp
|--|--|]--observation 1.1 R | @classCode="0BS” ,
@moodCode="EVN”
Code H,
codeSyst @codeSystem="2. 16. 15
em 6.10011.2.2.17 ,
) DE02. 10. 071.
|--|--|--|--code codeSyst | 1..1 R @codeSystemName=""T. 00
emName AEEHIRITTER
displayN @displayName:”fmTﬁE
ame i
Xof R i P A
|--|--|--|--value xsi:type | 1..1 R BLHEANIL, BAE
@xsi:type="ST”
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6.4.2 FERREMETITREMN
F AR I R EE T TR AR LR 1L
x1 ERBREESET TREAEM
TRAH REE | EM| A0E | OIS MBI
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component F- L ) B wE AR T
E
|--section
code = A e ) R AR
displayN 4, Hre
ame code="11450-4" ,
codeSyst @displayName="PROBLE
|--|--code em 1..1 R M LIST” ,
codeSyst @codeSystem="2. 16. 84
erName 0.1.113883.6.17 ,
@codeSystemName="L01
NC”
|-|-text PNES= T
|--|--entry FRiR N5 1T FEbr ik
o
|--|]--|--observation 1..1 R | @lassCode="0BS” ,
@moodCode="EVN”
Code Hrh,
codeSyst @codeSystem="2. 16. 15
em 6.10011.2.2.17 ,
) DE05. 10. 143.
|--|--]--|--code codeSyst | 1..1 R @codeSystemName=""12 00
emName AEEHTETTER
displayN @displayName="[Fit M
ame KA EEbRE”
A
|-[--|--|--value xsi:type | 1..1 R | @xsi:type="BL”, HAk
fifE@value
|--|--entry REAR A R
o
|--|]--|--observation @classCode="0BS” ,
@moodCode="EVN”
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Code Hr,
codeSyst @codeSystem="2. 16. 15
em 6.10011.2.2.17 ,
) DEO4. 01. 118,
|--|--]--|--code codeSyst | 1..1 R @codeSystemName="_ 00
emName AE R ITTER
displayN @displayName="fiE{k %
ame FR”
R IR I PR 32 2
|--|--|--|--value xsi:type | 1..1 R R awk, SaE
@xsi:type="ST”
fr|--|--|--entryRe lati AT
onship 1..1 R ({DtypeC(.)deZ SUIEJ )
inversionInd="false
Hrp
|--|--|--|--]--observation 1..1 R @classCode="0BS” ,
@moodCode="EVN”
Code SERFIA, Hrh,
codeSyst @codeSystem="2. 16. 15
em 6.10011.2.2.17 ,
) DE04. 01. 117.
|-=|--]-=|--|]--|]--code codeSyst | 1..1 R @codeSystemName="_12 00
emName AE R ITER
displayN @displayName="JEtRHH
ame R
X BB H LR IR B VR4
|-=|--]--|--value xsi:type | 1..1 R | ik, SREE
@xsi:type="ST”
|--|--entry HE P Mg
o
|--|--|--observation @classCode="0BS” ,
@moodCode="EVN”
Code H,
codeSyst @codeSystem="2. 16. 15
em 6.10011.2.2.17,
) DEO2. 10. 028,
|--|-=|--]--code codeSyst | 1..1 R @codeSystemName=""T2 00
emName A REYE TER”
displayN @displayName=""r1[5=
ame “Phiz” WEas R
s “PUis” WgEgs R
|-~|--|--|--value xsiztype | 1..1 | R I?M#WEK’ e,
.| VI,
g Hexsi:type="ST”
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®12 ABRISEIET FEBEMR

FHAWK | AR ik
YNUAZI IRt S 0..% R2 | HERITHRYE B AR 500, Z88 2 T fE Hh i vl
*H =2 W
NUAZ Tl VS 0..% 0 | HERITHRYE B8 AR O, SR M il i e
sk H B2 12 W

6.5.2 ABTIZEIETI JTREMR
ANBE2i =S e R AR £ 13,

®13 ABRISETETI TRER

SR R | % | w B i MBS
TUIRRAT
component )\K%l?ﬁﬁﬁaﬁ*ﬁfﬁ%
|--section
code ANz & iy, L
displayN H1@ code="46241-6",
ame @displayName="HOSPIT
- code codeSyst L1 R AL ADMISSION”DX”,
em @codeSystem="2. 16. 84
codoSyst 0.1.113883.6.1” ,
emName @codeSystemName="L01
NC”
|--|--text NBEER Sy
|--|--entry N2 vaE 2% H
o
|--|--|--observation @classCode="0BS” ,
@moodCode="EVN”
Code Hr,
codeSyst @codeSystem="2. 16. 15
em 6.10011.2.2.17 , DEO5. 0L. 095.
|-[--|--]--code codeSyst | 1..1 R | @odeSystemName=""T. 00
emName AEEHFETER
displayN @displayName=" \[ii2
ame WP <2 W 4 PR
|--[--|--|--value xsiztype | 1..1 | R | HHERITHRYE B H A By
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&AL, 25 & AT R E
B PUER 2 A Fr, B
A (Hoxsi:type="ST”

|--|--|--|--entryRelati R2 Hrp,
onship @typeCode="COMP”
oo
|--|--|--]--]--observation @classCode="0BS” ,
@moodCode="EVN”
Code INAZY iR 2T
codeSyst -, Hea,
em @codeSystem="2. 16. 15
codoSyst 6.10011.2.2.1” DE05. 01. 024.
[=l-l-l-l--l--code emName R @codeSystemName="T. 00
Jisplagy Eﬁﬁﬁ%ﬁai”t
@displayName=" \[i2
e b7 2 1 W
xsi:type
Hrh, @xsi:type="CD”,
Code ”
@codeSystem="2. 16. 15
efefeefovalue | €09€SYSE R |6.10011.2.3.3.11.3"
o , @codeSystemName="
codeSyst BT E (1CD-10)
emName
|--]--entry ANBiizWr-+ =% H
Hrp
|--|--|]--observation @classCode="0BS” ,
@moodCode="EVN”
Code Horp,
codeSyst @codeSystem="2. 16. 15
em 6.10011.2.2.17 ,
L DEO5. 10. 172.
|--|--|--|--code codeSyst R @codeSystemName="12 00
emName AE R ITER
displayN @displayName=" \Bii2
ame Wr—rh B 44 4 R
FH 2= AR 4t 282 A\ B It
ef-value csi:type R G OL,  ZxE AT TR
MR 4, A E
@xsi:type="ST”
t:;izgmentryRelatl R2 | HA, typeCode="COMP”
o
|--[--|--|--|--observation @classCode="0BS” ,

@moodCode="EVN”
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Code ARz Wr—rh 2 i g
codeSyst -, HAa,
em @codeSystem="2. 16. 15
codeSyst 6.10011.2.2.17 , DEO5. 10. 130.
[~=l~=l~-I--I--|--code emName R @codeSystemName="T" 00
' AEEHTETER,
displayN @displayName=" \[ii2
ane b~ [ i 44 AR
xsi:type Hr,
Code @xsi:type="CD” ,
codeSyst @codeSystem="2. 16. 15
fec|eefec|ef-| vl ue - R |6.10011.2.3.3.14”7 ,
codeSyst @codeSystemName="
emName B IE 73 R E AR
(GB/T 15657) ”
|--|--|]--]--entryRelati ” ”
onship R2 | H, typeCode="COMP
Hrp
|--|--|--|]--|--observation @classCode="0BS” ,
@moodCode="EVN”
Code NBei2 Wr—rh BEAIE fig 2
codeSyst -8k, HAi,
em @codeSystem="2. 16. 15
codeSyst 6.10011.2.2.17 , DEO5. 10. 172.
e -code R ,,
emName @codeSystemName=""T2 00
displagh EEE%&?ETT: Hx” ,
@displayName=" \[zi2
e 7 o I 0 4
xsi:type F 122 AR 4 B8 38 N i st
e N
H IR EREE AR, H
1, @xsi:type="INT”
|--|]--]--]--entryRelati RO Hrr,
onship @typeCode="COMP”
o
|-=|--|--|--|--observation @classCode="0BS” ,
@moodCode="EVN”
Code AN B2 Wr—rh BEAIE g 2
codeSyst i—ARHg, He, DEOS. 10. 130.
|-=|-=|--|]--|--]--code em R @codeSystem="2. 16. 15 00
codeSyst 6.10011.2.2. 17 ,
emName @codeSystemName=""T.
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displayN AEEEIRITER
@displayName=" A\ i2
" i~ B A R
xsi:type H,
Code @xsi:type="CD” ,
codeSyst @codeSystem="2. 16. 15
|-=|-=|--|--|--|]--value em 1..1 R 6.10011.2.3.3.14” ,
codeSyst @codeSystemName="m1
emName IR IE > R E SR
(GB/T 15657) ”

6.6 JATrITRIET
6.6.1 GATTHRIEHZBEMK
T VRIS S A B LR 14
F14 RTHRIETHEZEMR

& B AW HE | AR ik
SRR R ! 0..1 0 | IRAEHFUELR IR AT A FRAR TR

6.6.2 AITITRIET TEER
EITHRIE O R AR E LS.

®15 ATTITRIET TREAR

TRAH REE | mE | gk | woiH MBS
TChR IR
component BT RIENIRITER
|--section
code BT TR E TR, H
displayN H1@ code="18776-5" ,
ame @displayName="TREATM
|--|--code codeSyst 1..1 R ENT PLAN™ .,
em @codeSystem="2. 16. 84
codoSyst 0.1.113883.6.1” ,
emName @codeSystemName="L01
NC”
|--|--text NS
|--|--entry HNEERHE
Horp
|--|--|--observation @classCode="0BS” ,
@moodCode="EVN”
foo|m<|~—|-code Code | 1..1| R |Hdh, DE06. 00. 300.
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codeSyst @codeSystem="2. 16. 15 00
em 6.10011.2.2. 17 ,
codeSyst @codeSystemName=""F
emName G BEE CHR,
displayN @displayName="y: ¥H
ame %"
xsi:type R HEUE 285 3 Ly v )
|--|--|--|--value 1..1 R | BIEBHARE, skl
@xsi:type="ST”
6.7 {EREIEET
6.7.1 fEREEIEETRBEMK
R AR 5% H LR 16,
F16 ([FRRAEETHEEMRK
% B AWK 2H | 4R iR
NG JE 1..1 R X B NS LI AN A
IZYIPUN X By
o SRS L] R | s R
H g L2 B 1..1 R | X B ) L
6.7.2 fERTdIEETTRAMK
R R T TR AR INELT,
17 [FRIEET TRAER
_ . . XF L B B
LR B B B | AR VILERSE 30 s
TOhR AT
component APt R ETRITER
|--section
code EpE T E S, H
displayN H1@ code="8648-8" ,
ame @displayName="HOSPIT
AL COURSE” ,
|--|]--code codeSyst 1..1 R ,
em @codeSystem="2. 16. 84
CodeSyst O 1 113883. 6 1” ’
emName @codeSystemName="101
NC”
|--|-text NBER S
|--]--entry NGAERE 3=
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o
|--|--|--observation @classCode="0BS” ,
@moodCode="EVN”
Code Hr,
codeSyst @codeSystem="2. 16. 15
em 6.10011.2.2.17 ,
| pROS. 10. 148.
|--|--]--|--code codeSyst | 1..1 R @codeSystemName="_12 00
emName AEEHIETER,
displayN @displayName=" NP1
ame o
xsi:type PR N R TR 24
|--|--|--|]--value 1..1 R ik, BAHE
@xsi:type="ST”
|--|--entry 2T R R ok H
Hrp
|--|--|--observation @classCode="0BS” ,
@moodCode="EVN”
Code Ho,
codeSyst @codeSystem="2. 16. 15
em 6.10011.2.2.17 ,
|--]--|--|]--code codeSyst | 1..1 R @codeSystemName=""F DEOG. 00. 296.
emName AE R ITER 00
displayN @displayName="12J7 3L
ame FEHhR”
xsi:type XS IS R A
[+-[-[--|--value L.1 | R | #k, SEE
@xsi:type="ST”
|--|--entry H Bt 2% B
Hrp
|--|--|--observation @classCode="0BS” ,
@moodCode="EVN”
Code o,
codeSyst @codeSystem="2. 16. 15
em 6.10011.2.2.17 ,
|--]--|--|]--code codeSyst | 1..1 R @codeSystemName=""T DEOG. 00. 193.
emName AE R TER 00
displayN @displayName="H! P&
ame o
Xsi:type X BB H B A L ) R
[+-|-[--|--value L.1 | R | #k, SEE
@xsi:type="ST”
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6.8 HBTISHIET
6.8.1 WRISEIET BN
H Be 12 W B 15 2% H A UL R 18
*18 RIS WET hEEMR

% H 47K B | 4ok ik
igfﬁ PREE | R | e B TS
CRVN
z Eﬂ/%ﬁ TEN L | R | s s m i E

6.8.2 WHBRIZEIETI STREM
W2 = R AR LE 19,
Fz19 HRIZEIETDTEER

TR REE | ma | gk | woi HPLHEE
TCAR IR
component Wiz = TR TR
|--section
code iz E= AR,
displayN H1@ code="11535-2",
ame @displayName="Discha
lcode codeSyst L R rge Diagnosis” ,
em @codeSystem="2. 16. 84
codeSyst 0.1.113883.6.1” ,
emName @codeSystemName="L01I
NC”
|--|--text PN B
|--|--entry iz - R % H
o
|--|--|--observation 1..1 @classCode="0BS” ,
@moodCode="EVN”
Code Ho,
codeSyst @codeSystem="2. 16. 15
em 6.10011.2.2.17 , DEO5. 01. 025.
|--]--|--|]--code codeSyst | 1..1 R @codeSystemName="T. 00
emName AE R TTER
displayN @displayName="t1 i i2
ame Wr— 8 =12 W 44 PR
|--|--|--|--value xsiztype | 1.1 | R | HHERVTARYE B35 A Beif
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&AL, 25 & AT R E
B PUER 2 A Fr, B
A (Hoxsi:type="ST”

|S—};|i—1;|——|——entryRe1atlon o, typeCode="COMP”
Hrp
|--|--|--|--|--observation @classCode="0BS” ,
@moodCode="EVN”
Code H B2 -7 12 Wi
codeSyst -, Hea,
em @codeSystem="2. 16. 15
el l-code codeSyst 6.10011.2.2.17 , DEO05. 01. 024.
emName @codeSystemName="T. 00
displayl Eﬁﬁﬁ%ﬁai”t
@displayName="H e 2
e b7 2 1 W
xsi:type
Hrh, @xsi:type="CD”,
Code ,
@codeSystem="2. 16. 15
|ee|eefe || |--value codeSyst 6.10011.2.3.3. 11. 3"
o , @codeSystemName="
codeSyst LWL (1CD-10) 7
emName
|--|--entry Bz H
Hrp
|--|]--|--observation @classCode="0BS” ,
@moodCode="EVN”
Code Hor,
codeSyst @codeSystem="2. 16. 15
em 6.10011.2.2.17 ,
| DEO5. 10. 172.
|--|--|--|--code codeSyst @codeSystemName="12 00
emName EEEEPRITHR,
displayN @displayName="tH[Ei2
ame Mr— 22 44 44 PR
FH 2= AR 4t 282 A\ B It
I . G OL,  ZxE AT TR
llvalue xstipe PR, SR
@xsi:type="ST”
E;;;L-L-enn3dRelanon o1, typeCode="COMP”
o
|--[--|--|--|--observation @classCode="0BS” ,

@moodCode="EVN”
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Code th B2 Wr—rh B2 i g
codeSyst -, HAa,
em @codeSystem="2. 16. 15
e f-|--code codeSyst 6.10011.2.2.17 , DEO5. 10. 130.
emName @codeSystemName=""T 00
' AEEHFETER
displayN @displayName="HFii2
e M7 5 44 A
xsi:type Hr,
Code @xsi:type="CD” ,
codeSyst @codeSystem="2. 16. 15
fecfe|eeeo|-|--value om 6.10011.2.3.3. 14",
codeSyst @codeSystemName="
emName B IE 73 R E AR
(GB/T 15657) ”
|S—};|i;|——|——entryRe1atlon o, typeCode="CONP”
Hrp
|--]--|--|]--|--observation @classCode="0BS” ,
@moodCode="EVN”
Code Hh B 12 W R IE fig D
codeSyst -8k, HAi,
em @codeSystem="2. 16. 15
e ffo-l--code codeSyst 6.10011.2.2.17 , DEO5. 10. 172.
emName @codeSystemName="T. 00
displagh @EEE&&?ETT: Hx” ,
@displayName="HfEi2
e 7 o I 0 4
xsi:type F 122 AR 4 B8 38 N i st
el -value PGS, ZRE M Bl
H IR EREE AR, H
B, @xsi:type="ST”
|--|--|]--|--entryRelation Hrr,
ship @typeCode="COMP”
o
|--|--|--|--]--observation @classCode="0BS” ,
@moodCode="EVN”
Code Hh B 12 W R IE fig 2
codeSyst fg—f%hg, HA, DEOS. 10. 130,
|--|-=|-=|--|--]--code em @codeSystem="2. 16. 15 00
codeSyst 6.10011.2.2. 17 ,
emName @codeSystemName=""T.
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displayN AEEEIRITER
@displayName=" A\ i2
" i~ B A R
xsi:type H,
Code @xsi:type="CD” ,
codeSyst @codeSystem="2. 16. 15
|-=|-=|--|--|--|]--value em 1..1 R 6.10011.2.3.3.14” ,
codeSyst @codeSystemName="m1
emName IR IE > R E SR
(GB/T 15657) ”

6.9 EEEZEY
6.9.1 EREHFEMMK
W 515 2% H Ak L& 20,
#20 ERETHEZEER

& B AW HE | AR ik
i e 2 2% H 0..1 R2 | & e PR U ) VRt A

6.9.2 EREEDBITEAR
BEWE & o A N 21 .

#21 EREZETTREAR

_ . \ XoF L R
TLER IR B HE | 4R VILESE 3 s
TUARRFF
component ERENRITE
|--section
code Vg =AY, e
displayN code="46209-3" ,
ame @displayName="PROVID
ER ORDERS” ,
|--|--code codeSyst 1..1 R ,
em @codeSystem="2. 16. 84
CodeSyst O 1 113883. 6 1” ’
emName @codeSystemName="L01
NC’/
|--|--text PN
|--|--entry H IKJ’%@HE% H
Hrp
|--|--|--observation @classCode="0BS” ,
@moodCode="RQ0”
||~ |-|--code Code | 1..1| R |Xrh, DE06. 00. 287.
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codeSyst @codeSystem="2. 16. 15 00
em 6.10011.2.2.17 ,
codeSyst @codeSystemName="T
emName AEEHTETER
displayN @displayName="tH R &
ame Mg
|--|--|--|--effective Time Hh 5t 5 W - SN [
Xsi:type X £ H B BRI 1) R4
|--|--|--|--value 1..1 R | ik, #EE
@xsi:type="ST”
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<?xml version="1.0" encoding="UTF-§"?>
<ClinicalDocument xmlns="urn:hl7-org:v3" xmlns:mif="urn:hl7-org:v3/mif"
xmlns:xsi="http://www.w3.0rg/2001/XMLSchema-instance"

xsi:schemalocation="urn:hl7-org:v3 ..\sdschemas\SDA.xsd">
<l

sk 3k sk sfe sk sk sk sie sk sfe sk sk sfe sl st s ske sk sk sie sk s ske sk sk sie st sfeoske sk sk sk sk sk sk sk sie sk sle sk sk sk sk sk sk sk skoskok skoskok
CDA Header
sk sk sk sfe sie sk sk sie sk sfe sk sk sk sie sk s ske sk sk sie sk s sk sk sk sl sk s sk sk skeosie sk sk s sk sk sie sk ske sk sk sk sk sk seoske sk sk skoskok skoskok
>
<realmCode code="CN"/>
<typeld root="2.16.840.1.113883.1.3" extension="POCD_MT000040"/>
<templateld root="2.16.156.10011.2.1.1.55"/>

<l-- XHHAKE >
<id root="2.16.156.10011.1.1" extension="RNO001"/>

<code code="C0035" codeSystem="2.16.156.10011.2.4" codeSystemName=""T 4= {5 5 3t = R ik & "/>

<title>24h P X\ H Bt i s </title>

<l-- SCRYMLAS A BN TE] ->
<effectiveTime value="20121024154823"/>

<confidentialityCode code="N" codeSystem="2.16.840.1.113883.5.25" codeSystemName="Confidentiality"

displayName=""1F 5 [r] {2 Z¢ 71" />
<languageCode code="zh-CN"/>
<setld/>

<versionNumber/>

< --RIE TR (EFED  [1..%] contextControlCode="OP" &/~ A5 B v] LA & #--—>

<recordTarget typeCode="RCT" contextControlCode="OP">
<patientRole classCode="PAT">
<l-AEBE 5 hRiR-->

<id root="2.16.156.10011.1.12" extension="HA201102113366666"/>

<l-- BEHE >
<addr use="H">
<houseNumber>xx "5 xx/) X xx#xx H. Jt</houseNumber>

<streetName>xx K1 </streetName>
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<township>xx Z 4 </township>
<county>xx[X </county>
<city>xx i </city>
<state>xx 44 </state>

</addr>

<patient classCode="PSN" determinerCode="INSTANCE">

<1--BE SIE S >

<id root="2.16.156.10011.1.3" extension="1D420106201101011919"/>

<name>7Z B F </name>

<administrativeGenderCode code="1" displayName=""5}

codeSystem="2.16.156.10011.2.3.3.4" codeSystemName=""F H# {: 5] {Ci% % (GB/T 2261.1) "/>
<maritalStatusCode code="10" displayName="R 4" codeSystem="2.16.156.10011.2.3.3.5"

codeSystemName="#§HIRHLALILE (GB/T 2261.2) "/>

<ethnicGroupCode code="01" displayName="7{J#&" codeSystem="2.16.156.10011.2.3.3.3"

codeSystemName=" [ HAI5E (GB/T 3304) "/>
<l-- Fl >
<age value="30" unit="%'"/>
<1--BOAR - >

<occupation>

<occupationCode code="11" displayName="EF A 5% 1"

codeSystem="2.16.156.10011.2.3.3.13" codeSystemName="MMRH (A S &) ARIDE (GB/T 2261.4) "/>

</occupation>
</patient>
</patientRole>
</recordTarget>
<l-- XHBIEE >
<author typeCode="AUT" contextControlCode="OP">
<time value="201104041010"/>
<assignedAuthor classCode="ASSIGNED">
<id root="2.16.156.10011.1.7" extension="234234234"/>
<assignedPerson>
<name>ZF % 2f </name>
</assignedPerson>
</assigned Author>
</author>
<l A E >
<informant>
<assignedEntity>
<id/>

<1--Prid ¥ 5 8 1o R AU >

<code code="1" displayName="F{H" codeSystem="2.16.156.10011.2.3.3.8" codeSystemName="

FhEx 7# A% (GB/T 4761) "/>

<assignedPerson>
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<name>F fRiA</name>
</assignedPerson>
</assignedEntity>
</informant>
<l REN >
<custodian typeCode="CST">
<assignedCustodian classCode="ASSIGNED">

<representedCustodianOrganization classCode="ORG" determinerCode="INSTANCE">

<id root="2.16.156.10011.1.5" extension="[E& 7 P =M% 5 "/>

<name>xx[% it </name>
</representedCustodianOrganization>
</assignedCustodian>
</custodian>
<l RAHRHEZA >
<legal Authenticator>
<time/>
<signatureCode/>
<assignedEntity>
<id root="2.16.156.10011.1.4" extension="001"/>
<code displayName="F{F & Jifi"/>
<assignedPerson>
<name>% 3:{f:</name>
</assignedPerson>
</assignedEntity>
</legal Authenticator>
<l LBEMNZESY >
<authenticator>
<time/>
<signatureCode/>
<assignedEntity>
<id root="2.16.156.10011.1.4" extension="002"/>
<code displayName="4%12 [EJifi"/>
<assignedPerson>
<name>Z4%12</name>
</assignedPerson>
</assignedEntity>
</authenticator>
<I--fERE e e 44 >
<authenticator>
<time/>
<signatureCode/>
<assignedEntity>
<id root="2.16.156.10011.1.4" extension="003"/>
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<code displayName="1FF5 [ Jifi"/>
<assignedPerson>
<name>Z{F: i </name>
</assignedPerson>
</assignedEntity>
</authenticator>
<l--FIREE A4 -->
<authenticator>
<time/>
<signatureCode/>
<assignedEntity>
<id root="2.16.156.10011.1.4" extension="004"/>
<code displayName=""F A Efi"/>
<assignedPerson>
<name>% F: A </name>
</assignedPerson>
</assignedEntity>

</authenticator>

<relatedDocument typeCode="RPLC">
<parentDocument>
<id/>
<setld/>
<versionNumber/>
</parentDocument>

</relatedDocument>

<l KT G R BEEMER R >
<componentOf>
<encompassingEncounter>
<effectiveTime>
<l-- AP H I >
<low value="20121112102325"/>
<l-- e H I >
<high value="20121112142325"/>
</effectiveTime>
</encompassingEncounter>

</componentOf>

| 3k sk sk sk sk sk sk sk sk ok st sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk stk stk stk sk stk ok skokskskok sokskok ko

W HiABody

sk sk sk sk sk sk sk sk sk sk sk ste sk ste st sk sk she sk ske sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk skosko skt sk ke sk skt skoskoskoskoskoskok

-->

<component>
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<structuredBody>
<|--FFETT->
<component>
<section>
<code code="10154-3" displayName="CHIEF COMPLAINT"
codeSystem="2.16.840.1.113883.6.1" codeSystemName="LOINC"/>
<text/>
<l--FYrFKH-->
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE04.01.119.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T £ {5 2445 7t H 3% " displayName="F1f"/>
<value xsi:type="ST">"} & F AP FH 5% ) 32 ZDREIR Bz A5 SL I 7] F
W, o AR N R " </value>
</observation>
</entry>
</section>
</component>
<1--T 5 T -
<component>
<section>
<code code="10164-2" displayName="HISTORY OF PRESENT ILLNESS"
codeSystem="2.16.840.1.113883.6.1" codeSystemName="LOINC"/>
<text/>
<1--Pljp L% H >
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE02.10.071.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T =15 & ¥ 7t H 3% " displayName="HJ 5£"/>
<value xsi:type="ST">"XJ F# 4 ij BT 50 1 L 1) 4 5 A8 "</value>
</observation>
</entry>
</section>
</component>
<l--FEAR R T >
<component>
<section>
<code code="11450-4" displayName="PROBLEM LIST"
codeSystem="2.16.840.1.113883.6.1" codeSystemName="LOINC"/>

<text/>
<1--FARIR A TS AR >
<entry>

<observation classCode="0OBS" moodCode="EVN">
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<code code="DE05.10.143.00" codeSystem:"Z 16.156.10011.2.2.1"
codeSystemName=""T£ {5 B 445 70 H 3% " displayName="[i& N 2 1] FEbr &
<value xsi:type="BL" value="false"/>
</observation>
</entry>
<SR FR-->
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE04.01.118.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""F 415 & ¥ 7t H 3" displayName="4Ftk % #5"/>
<value xsi:type="ST"> i # H B PR 32 BURE IR 1) 44 Fr</value>
<SR IR -->
<entryRelationship typeCode="SUBIJ" inversionInd="false">
<observation classCode="OBS" moodCode="EVN">
<code code="DE04.01.117.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 B &4 7C H %" displayName="JE IR ik "/>
<value xsi:type="ST">X & & HIAER AT FEA i IR </value>
</observation>
</entryRelationship>
</observation>
</entry>
<l--rPEECPY IS WG A R >
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE02.10.028.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T {5 & (#f 7c H 3" displayName=""1 &2 M 5245 K" />
<value xsi:type="ST">H1 VYL WERLE R TEMF IR, BIEHE, @, H.
Yl N & </value>
</observation>
</entry>
</section>
</component>
<!--
sk s st sk sk sk sk skeoske sk sk sk sk st sk st sk sk sk st ske sl sk sk sk st sk sleosk sk sk sk sk skeosie sk skeosieo sk sk skeoskosie sk skeoskoskoskok skeokokoskeskok
N
sk s st sk sk sk sk skeoske sk sk sk sk st sk sk sk sk sk st ske sl sk sk sk sk sk sl sk sk sk sk sk skeosie sk skeosie sk skeoske sk skt sk skeoskoskoskokoskeokok skeskok
-
<component>
<section>
<code code="46241-6" displayName="HOSPITAL ADMISSION DX"
codeSystem="2.16.840.1.113883.6.1" codeSystemName="LOINC"/>
<text/>

<l-- \BgiZ -5 B2 2% H -->

28




WS/T XXXXX—2013

<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE05.01.025.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName="_F 415 EE#E 7t H %" displayName="A\5¢ 12 Wi- 1t =12 Wi 4 FR"/>
<value xsi:type="ST">GI{% V£ 51 {5 </value>
<entryRelationship typeCode="COMP">
<observation classCode="OBS" moodCode="EVN">
<!-- NBii2 -7 B 12 W g b - AR -—>
<code code="DE05.01.024.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 /& 4045 7C H 3" displayName="A i 12 Wr-7G = 2 Wi g />
<value xsi:type="CD" code="506.902" displayName=""!15 i fixi
15" codeSystem="2.16.156.10011.2.3.3.11.3" codeSystemName="12 W%k (ICD-10) "/>
</observation>
</entryRelationship>
</observation>
</entry>
<I-APBtizWi-HE % H -->
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE05.10.172.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName="_F 415 E &4 7t B %" displayName=" B¢ 12 Wi-+ B9 2 ZFR" />
<value xsi:type="ST">M EHi</value>
<entryRelationship typeCode="COMP">
<observation classCode="OBS" moodCode="EVN">
<!I-- NBii2 Wi-H =12 W g b - AR -—>
<code code="DE05.10.130.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName="_F 415 EE#E 7t H %" displayName=" A\ 12 Wi-+ &5 Z A5 " />
<value xsi:type="CD" code="BN" displayName="P £Hp"
codeSystem="2.16.156.10011.2.3.3.14" codeSystemName=""r Il 73 K 5% (GB/T 15657) "/>
</observation>
</entryRelationship>
<entryRelationship typeCode="COMP">
<observation classCode="OBS" moodCode="EVN">
<I-- NBgiZ - BRI G i - 44 FR -->
<code code="DE05.10.172.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName="_F 415 E&# 7t B %" displayName=" B¢ 12 Wi-+ BEE% L FR" />
<value xsi:type="ST">"K & _I Bk </value>
</observation>
</entryRelationship>
<entryRelationship typeCode="COMP">
<observation classCode="OBS" moodCode="EVN">
<I-- NBEiZ - B G b - A i >
<code code="DE05.10.130.00" codeSystem="2.16.156.10011.2.2.1"
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codeSystemName="_F 415 H &4 7t H %" displayName=" B¢ 12 Wi-+ =L EAHE" />

<value xsi:type="CD" code="ZBUD90" displayName=""K 7 I BilE
" codeSystem="2.16.156.10011.2.3.3.14" codeSystemName=""rh B4 2 580 % (GB/T 15657) "/>

</observation>
</entryRelationship>
</observation>
</entry>
</section>
</component>
<I--JRIT TR E AT >
<component>
<section>

<code code="18776-5" displayName="TREATMENT PLAN"
codeSystem="2.16.840.1.113883.6.1" codeSystemName="LOINC"/>

<text/>
<--JRMRVESR H >
<entry>

<observation classCode="OBS" moodCode="INT">
<code code="DE06.00.300.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T. {5 B 4#5 70 H 5% " displayName="y& ¥G7%"/>
<value xsi:type="ST">#i X f#F& </value>
</observation>
</entry>
</section>
</component>
<I-AERti T AT ->
<component>
<section>
<code code="8648-8" displayName="HOSPITAL COURSE"
codeSystem="2.16.840.1.113883.6.1" codeSystemName="LOINC"/>

<text/>
<1-- APt ol sk H-->
<entry>

<observation classCode="OBS" moodCode="EVN">
<code code="DE05.10.148.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T.AE {5 B % 70 H 5% " displayName=" AP 5" />
<value xsi:type="ST">XJ &34 A\ Bt I 1 1 4 fiid </value>
</observation>
</entry>
<27 AR % H >
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE06.00.296.00" codeSystem="2.16.156.10011.2.2.1"
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codeSystemName=""T 415 & ¥4 7t H %" displayName="1297 I FE A" />
<value xsi:type="ST">Xf B FH 27 L FE AT FEI I IR </value>
</observation>
</entry>
<I--tHBE i sk H ->
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE06.00.193.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 B &4 7¢ H %" displayName=""tH B 15 " />
<value xsi:type="ST">*J & H Bt 1 00 1140 iR </value>
</observation>
</entry>
</section>
</component>

<!--

sk sk sk sk sk sk sk sk sk sk st ste sk ste sk sk sk she sk ske sk sk sk sk sk sk sk sk sk st she sk sk sk sk sk sk sk sk sk sk sk ske st sk sk sk sk skokokoskokokokok

HBt 2 H‘ﬁﬁﬂj

sk st st sk sk sk sk sk sk sk sk sk sk sk sk st sk sk sk st sk sk sk sk sk st sk sl sk sk sk sk sk skeosie sk sk sk sk sk skeoskosie sk skeoskoskoskok skeokok skeskok
-
<component>
<section>
<code code="11535-2" displayName="Discharge Diagnosis"
codeSystem="2.16.840.1.113883.6.1" codeSystemName="LOINC"/>
<text/>
<l--thBE 2 Wr-va e 2% H -->
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE05.01.025.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 /& 445 7C H 5" displayName="1 [t 12 Wr- 74 = 2 W7 4 />
<value xsi:type="ST">8 {7 M 5 {75 </value>
<entryRelationship typeCode="COMP">
<observation classCode="OBS" moodCode="EVN">
<I--th B 12 - V8 B2 2 Wi b - A A -->
<code code="DE05.01.024.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 /& 4045 7C H 3" displayName="1H [t 12 Wr- 74 = 2 Wi g />
<value xsi:type="CD" code="506.902" displayName=""!15 i fixi /1
5" codeSystem="2.16.156.10011.2.3.3.11.3" codeSystemName="12 Wi {Xi%3& (ICD-10) "/>
</observation>
</entryRelationship>
</observation>
</entry>
<l--th B iZ - B2 2% H -->

<entry>
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<observation classCode="OBS" moodCode="EVN">
<code code="DE05.10.172.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 /& 4045 7C H 5" displayName="1H Fi¢ 12 Wr - 295 44 44 Bk />
<value xsi:type="ST">M £Hi</value>
<entryRelationship typeCode="COMP">
<observation classCode="OBS" moodCode="EVN">
<I--th BEiZ - B2 Wi b - A A >
<code code="DE05.10.130.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName="_ 415 E&# 7t B %" displayName=""H B¢ 12 Wr- B9 Z A5 " />
<value xsi:type="CD" code="BN" displayName="P £H"
codeSystem="2.16.156.10011.2.3.3.14" codeSystemName="" ZJpilE 73 2K 5% (GB/T 15657) "/>
</observation>
</entryRelationship>
<entryRelationship typeCode="COMP">
<observation classCode="OBS" moodCode="EVN">
<I--HH B2 W7 - BRI G ) - 44 R -->
<code code="DE05.10.172.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 /& 445 7C H 3" displayName="H [t 12 Wr - E= I 4 />
<value xsi:type="ST">"K & _ Bk </value>
</observation>
</entryRelationship>
<entryRelationship typeCode="COMP">
<observation classCode="OBS" moodCode="EVN">
<I--tH B2 - BRI A G B - A >
<code code="DE05.10.130.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName="_ 415 EE# 7t H %" displayName=""H ¢ 12 Wr-+ BEAEFAHE" />
<value xsi:type="CD" code="ZBUD90" displayName=""K & - BilL
" codeSystem="2.16.156.10011.2.3.3.14" codeSystemName=""r1ZJpilE 732 5L #E (GB/T 15657) "/>

</observation>
</entryRelationship>
</observation>
</entry>

</section>
</component>
<|--[E g >
<component>

<section>

<code code="46209-3" displayName="PROVIDER ORDERS"
codeSystem="2.16.840.1.113883.6.1" codeSystemName="LOINC"/>

<text/>
<t B EE & H >
<entry>

<observation classCode="OBS" moodCode="RQO">
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<code code="DE06.00.287.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 B &4 7¢ H %" displayName=""tH B < Vg "/>
<I--HH e B Mg T S 1 9 ) -->
<effectiveTime value="20121012101112"/>
<value xsi:type="ST">X] F3 t B < V& 1) 40 ik </value>
</observation>
</entry>
</section>
</component>
</structuredBody>
</component>

</ClinicalDocument>
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